Powers of Products and Quotients

B3> simplify.

1) (-22%)% = 2) (—ata?)? =
3) (92%y)° = a) (—3z3y)? =
5 (2y)? = 6) (—z?)? =

7) (—62’y)? = 8) (5z’y)3 =

9) (—2a'y)* = 10) (—10z%y)3 =
11) (-32%2°)° = 12) (723)3 =

13) (2%)* = 14) (—922)% =
15) (8z%y)* = 16) (3za?)? =
17) (22%2?)* = 18) (—10z%)2 =
19) (8z*x?)* = 20) (zz?)? =

21) (3m4y)3 = 22) (_7w2y)2 —



Answers of Powers of Products and Quotients

B> simplify.

1) (—22%)? = 428 2) (—zta?)? = 1212

3) (9z%y)? = 7292543 4) (—3z3y)? = 92542
5) (z3y)? = 1aby? 6) (—a?)? = 1a°

7) (—6z3y)? = 362542 8) (5z?y)3 = 125z5¢3
9) (—2z%y)? = 428 10) (—10z*y)3 = — 1000z'2¢?
11) (—3z%22)3 = — 27z 12) (7z3)3 = 3432°

13) (2*)? = 148 14) (—92%)% = — 72928
15) (8z3y)? = 642542 16) (3zz?)? = 9z

17) (2z2x2)3 = 8z'2 18) (—10z*)? = 100z®
19) (8z*z?)3 = 51228 20) (z2?)? = 12*2

21) (3zty)® = 272'2° 22) (—Tz%y)? = 49z%4?



